kil

5

FE AHRAKEKERTERER

)14 S S S Sl Sl Sl S S il AHEAII HEI pam ool HEPI HEI HEI HEI
JE AA EWIA | AAL EWIA | AAL EWA | B EWB | B, 4B B, A¥B B, A£¥B B, A#%B B, A¥B B, A%B B, A¥B B, %8B C. A%B C. AE¥B C. A%B C. 4B
g —ERE gt | kel | BN | A | TOD AT | BAMUE | WS | BICE | M@ | ATRIE | R | BUHE | . | S | A | @
pH 6.8 7.6 7.6 7.7 7.7 7.8 7.8 8.3 8.0 7.9 8.1 8.2 7.7 8.1 8.8 8.6
DO 9.9 10 10 10 10 9.8 9.7 11 10 9.8 8.9 9.2 8.1 9.4 11 11

4 [BOD 0.5 0.5 0.5 0.5 1.2 15 1.3 1.7 1.4 1.4 15 2.1 5.3 2.5 2.6 2.5

= |coD 0.7 1.0 1.1 1.4 1.9 3.1 3.1 3.5 3.3 3.3 2.9 3.9 4.1 3.9 4.4 45

g |SS 2 2 2 2 1 6 5 5 4 1 3 1 4 6 8 9

e | NIBEK 23 120 160 270 1300 520 270 87 210 230 89 1300 210 110 140 140

n | aEE 0.42 1.2 1.2 15 2.2 2.2 2.7 2.9 2.3 2.6 3.3 3.2 6.7 4.4 3.4 3.3

Y 0.006 0.021 0.018 0.039 0.079 0.11 0.12 0.43 0.11 0.11 0.12 0.19 0.10 0.18 0.21 0.20
Sl 0.007 0.001 0.001 0.001 0.001 0.006 0.008 0.012 0.015 0.013 0.006 0.008 0.005 0.010 0.011 0.010
=Tz )L - - <0.00006 — — - - - <0.00006 — — <0.00006 — — <0.00006 —
LAS — — 0.0009 — — B - - 0.0037 — — 0.0068 - — 0.0053 —
RS A <0.0003 | <0.0008 | <0.0003 | <0.0008 | <0.0008 | <0.0003 | <0.0003 | <0.0003 | <0.0008 | <0.0003 | <0.0003 | <0.0008 | <0.0003 | <0.0003 | <0.0003 | <0.0003
BT ND ND ND ND ND ND ND ND ND ND ND ND ND ND ND ND
& <0.005 <0.005 <0.005 | <0.005 | <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005
Ty = <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01
k5% <0.005 <0.005 <0.005 | <0.005 | <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005 <0.005
kSR <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005 | <0.0005
TV L KSR — — — — — — — — — — — — — — — —

N B e 7 =)L — — ND — — — ND — ND — — ND — — ND —

D [Pyanrs — B <0.002 — — - <0.002 - <0.002 — - <0.002 = — <0.002 —

b Tousgs b pesk — B <0.0002 — B — <0.0002 - <0.0002 — - <0.0002 — - <0.0002 -

B Loy ymuzsy — B <0.0004 B B — <0.0004 - <0.0004 B — <0.0004 - B <0.0004 —

D1y = — <0.002 — — - <0.002 — <0.002 — — <0.002 — — <0.002 -

® a1 ey sy — — <0.002 B B — <0.002 - <0.002 B — <0.002 - B <0.002 —

el WS — — <0.0005 — — — <0.0005 — <0.0005 — — <0.0005 — — <0.0005 -
gy |[LL2-hyoncsy — B <0.0006 — — — <0.0006 — <0.0006 — — <0.0006 — B <0.0006 —

S [TV ECES I - — <0.0005 — - - <0.0005 = <0.0005 — — <0.0005 — — <0.0005 —

7 |7h7smazfly — B <0.0005 -~ — - <0.0005 — <0.0005 — - <0.0005 — B <0.0005 -

g [L3-v7menrany — — <0.0005 — — — <0.0005 — <0.0005 — — <0.0005 — B <0.0005 —

g [La-oA Y — - <0.005 N — - <0.005 — <0.005 — — <0.005 — — <0.005 —

A — — <0.0006 — — — <0.0006 -~ <0.0006 -~ — <0.0006 -~ - <0.0006 —

H [E~oo = — <0.0003 — — - <0.0003 — <0.0003 — — <0.0003 — — <0.0003 -
FASIIIT — B <0.002 B B — <0.002 - <0.002 B — <0.002 - B <0.002 —
NP — — <0.001 — — — <0.001 — <0.001 — — <0.001 — B <0.001 -
L — B <0.002 B B — <0.002 - <0.002 B — <0.002 - B <0.002 —
5ok — B 0.03 — — - — — 0.08 — — 0.04 — — 0.10 —
ESES — B 0.02 — — - — — 0.06 — — 0.04 — — 0.07 —
AR = 3R — — <0.01 — — — — — 0.02 — — <0.01 — — 0.16 —
fE AR ML %2 R — — 1.2 — — — — — 1.6 — — 2.5 — — 2.5 —

=R <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02

O P - - - - - - - - - - <0.005 - <0.005 <0.005 <0.005 <0.005

¢ |6 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01 <0.01

= (U EAA = — 0.044 — — - — — 0.18 — — 0.48 — — 0.42 -

P [ 160 110 120 140 170 190 270 290 370 360 250 240 350 300 320 320

o R 4.7 4.1 16 10 16 16 25 26 34 37 16 14 18 19 29 36

w (B R AR <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02

i [Foe=TmEs — B 0.01 — — - — — 0.26 — — 0.08 - - 0.13 -

= |EPN — B <0.0006 B B — <0.0006 — <0.0006 — — <0.0006 — — <0.0006 -

#  [F AT LT ER - — - - - - — - — - - — - - <0.06 -

W AT 7= )= — — <0.0001 - - — — — <0.0001 - — <0.0001 - - <0.0001 -

% — — <0.002 - - B B — <0.002 - B <0.002 - B <0.002 —
2,4- /a7 = ) — )L = — <0.003 — — - — — <0.003 — - <0.003 — — <0.003 -

PN L — B — — — B — - — — — — B — —

(BT :pH: L. KBS E %k :CFU/100mL, &

XHUEIXETY{E, (BLBOD, CODIL75%1E . K5 H £ 90% &

SUBEE: 4 S/cm, ZD L :mg/L)




i) 1144 I FIE BYUI — I FRE FREDI [ eswndnimn | FEAGRIIN | B2 ABRIN | 4l HEAJ N FI AR E PRI FAREUN B4

FE

. )l

Wi | ATNRSR | RIS s NE i SINERET | RAINGR | RIFINET | RHIIE T e | BIaw | enes ;
R S Sz I, = IV, = I =

SR Ei | Cekemig) | PTERTT Congey | Y i) i i A T s e 11

=f
=

| i |
I =

=f
=

EER i

pH 7.6 7.9 7.6 7.6 7.5 7.8 7.7 7.8 7.7 7.7 7.7 7.7 7.8 7.8 7.9 7.7

DO 9.9 9.6 10 10 10 11 9.3 10 9.8 10 9.7 10 10 10 11 10

BOD 0.5 0.7 0.5 0.5 0.5 0.5 0.5 0.6 0.5 0.6 0.5 0.5 1.0 0.5 0.8 0.5

COD 1.6 2.2 2.2 1.1 1.0 1.1 0.8 2.9 1.5 2.7 1.9 2.0 1.8 1.1 3.1 1.6

SS 2 3 3 2 1 1 1 2 2 14 4 4 3 1 1 2

PN1EE 210 460 1100 190 12 89 140 610 100 350 920 220 740 30 870 380

PR 3.5 2.5 1.1 0.87 0.70 1.3 2.2 1.6 2.8 1.5 1.3 1.0 1.4 1.4 1.0 0.71

I S| 5 R O HE

Ee 0.057 0.12 0.025 0.007 0.008 0.014 0.035 0.047 0.084 0.053 0.047 0.015 0.059 0.017 0.009 0.025

Zigh — — — — — — — — — — — — — — — <0.001

=)V 7= /)—) — — — — — — — — — — — — — — _ —

LAS — — — — — — — — — — — — — — — —

RN - - - — - — - — - = — — — — — <0.0003

BT — B — — — — — — — — — — — — — ND

&0 _ _ — — — — — — — — — — — — — <0.005

iz a2 — B - — — — B - B — — — - B - <0.01

it — — — — — — — — — — — — — — — <0.005

1Bk R — — — — — — — — — — — — — — — <0.0005

TV KR — — — — — — — — — — — — — — — —

Ak 7=/ — — — — — — — — — — — — — — — —

Vyansy — B — — — — B — B — — — — B — —

EERIES ~ - ~ — — B - ~ B — B ~ ~ - ~ B

1,2-y"yunxhy — — — — — — — — — — — — — — — —

1,1-/anxfly — — — — — — — — — — — — — — — —

Y 2-1,2-y JrazLy — — — — — — — — — — — — — — — —

1,1,1-Mymnrsy - — — — — - — — — — - — — — — -

1,1,2-Nyonzsy B B — R R B B — B R - R — B — B

NyapzFl — — — — — — — — — — — — — — — —

7h7yaaxFlLy — — — — — — — — — — — — — — — —

1,3-v/7aa7e~’y — — — — — — — — — — — — — — — —

1,4-A %P — — — — — — — — — — _ — _ _ _ —

FU7h — — — — — - — — — — — — — — — —

mEHBNSBEARMESRRES >

T~y — — — - - — - — — - — - — — — —

FAN TN T = — — — — — — — — — — — — — — —

P — — — — — — — — — — — — — — — —

L — — — — — — — — — — — — — — — —

ok - R ~ — — - - - = = = = - - - -

s = = = - - — — — — - — - - — - -

o fiF P 1 28 58 — — — — — — — — — — — — — — — —

fiEf iR e %2 58 — — — — — — — — — — — — — — — —

=N - — — — — — — — — — — — — — — <0.02

Z=/— — — — — — — — — — — — — — — — —

4 — — — — — — — — — — — — — — — <0.01

UL B AA = B — R ~ — R — — = — = — — — —

AR 130 130 100 75 62 100 120 130 110 91 120 110 130 110 150 120

HRAA 3.4 3.9 2.0 1.5 1.2 6.1 2.1 2.1 2.7 2.0 2.9 2.5 2.8 1.8 1.7 3.3

[ A A S P <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02

TUE=TPEER - - - — — - - - - — = — = = - -

EPN — — — — — — — — — — — — — — — —

VLT VT ER — — — — — — — — — — _ _ _ — _ —

A—t-FIF N Tz )—)L — — — — — — — — — — — — — — — —

A B oEsESA s

7=l — — - = — — — — — - — — — — — —~

2,4-Yyan7= )—\ — — — — — — — — — — — — — — — —

I

sesesoe A | R UL R ARG — — — — — — — — — — — — — — — —

(BAfL:pH: %L, KIEE ) :CFU/100mL, BRIZESE: 1 S/cm., FDfth:mg/L)
XEILETY{E, {ELBOD. CODIL75%E . K5 E $%£90%E




w114, AR Il HE)L | o)l [ I | kil | Bl | wae)l | BRIl | el | e | oA | k) | s | R

K - - - — - — - - - - - - - - - -
il P /NIEITTE e Al w4 Al
s g | S| g | orom—s | sepmls | ewn | BRIV gim | g | ocwess | FARN | OmOE | s | %A | I | 2
i %) iR — 5 18) ERALEL

pH 7.7 7.9 7.9 7.6 7.7 7.8 8.0 8.1 8.0 7.7 8.0 7.7 7.7 8.0 7.8 8.1
DO 10 10 11 7.9 9.0 9.6 9.2 9.3 9.1 10 9.6 8.6 9.4 9.8 8.8 9.4
g BOD 0.5 1.3 0.8 7.5 3.4 1.0 0.7 0.7 1.0 1.0 0.6 1.0 2.5 24 1.1 1.4
= [coD 3.0 2.5 3.2 3.9 41 15 2.3 1.9 2.6 3.2 4.6 4.4 3.5 3.7 3.5 2.8
B SS 3 3 3 3 4 1 3 2 4 3 1 5 2 3 2 2

PNTE N 390 1800 1000 460 750 390 230 140 74 280 650 5400 630 240 380 3600
w |BEFE 4.4 3.1 7.4 5.0 4.6 2.0 2.1 2.2 1.7 2.7 4.8 1.5 4.3 4.0 3.4 2.9
0 [e 0.033 0.15 0.21 0.19 0.25 0.024 0.053 0.041 0.031 0.2 0.043 0.11 0.22 0.23 0.24 0.11
2 dgh = = - = - - = 0.004 0.004 = 0.004 0.005 = - - =
=)V Tx/)—)b — — — — — — — — — — — — — — — —
LAS — — — — — — — — — — — — — — — —
BRI L = = = = = = = <0.0003 | <0.0003 = <0.0003 | <0.0003 = = = =
BT - - - - - - - ND ND - ND ND - - - -
5 — — — — — — — <0.005 <0.005 — <0.005 <0.005 — B — —
AN AN — — — — — — — <0.01 <0.01 — <0.01 <0.01 — — — —
i - — — — — — — <0.005 <0.005 — <0.005 <0.005 — — — —
KR = - - — — - - <0.0005 | <0.0005 — <0.0005 | <0.0005 - R - -
AT KER — — — — — — — — — — — — — — — —
o R E T = = = = = = = = = = = = = = = =
e [Prooisy = = = = = = = = = = = = = = = =
g PURERE - - - - - - - - - - - - - - - -
o |L2-v7mmxsy — — — — — — — — — — — — — — — —
@ [L1-vymFly — — — -~ -~ — — — — -~ — -~ — — — —
4 [Al2-vymnrfly — — — — — — — — — — — — — — — —
- [LL1-Wymnrsy = = = = = = = = = = = = = = = =
pg  [LL2-Nyonrhy — — — — — — — — — — — — — — — —
N SV ERES I = = = = = = = = = = = = = = = =
7 |Tiomarriy - - - — — - - - - — - — - - - -
gr [L3=v7mazanty — — — — — — — — — — — — — — — —
g [LaoAEd = = = = = = = = = = = = = = = =
N ET — — — - - — — — — - — - — — — —
FAN TN T = = = = = = = = = = = = = = = =
P — — — — — — — — — — — — — — — —
Lo — — — — — — — — — — — — — — — —
5o = = = = = = = = = = = = = = = =
357 - - - - - - - - - - - - - - - -
iR e RS — — — — — — — — — — <0.01 <0.01 — — — —
R 2 R - - — — — - - - - — 4.3 1.1 - - - -
FRRE - - - ~ ~ R - <0.02 <0.02 ~ <0.02 <0.02 - - ~ R
O — — — — — — — — — — — — — — — —
|9 - - — — — — - <0.01 <0.01 — <0.01 <0.01 — — — —
= | - - - — — - - — - — — — - - - -
» | EEAREE 1300 160 230 210 200 120 120 130 130 200 1100 530 210 210 260 210
N A 330 4.5 11 8.5 9.2 4.9 3.0 5.0 438 13 250 40 11 11 12 6.5

m B SR EE A 0.02 0.03 0.03 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02 <0.02
N e ER — = = = = = - ~ - — 0.04 0.08 ~ R ~ -
2 |[EPN — — — — — — — — — — — — — — — —
B[R AT TR — — — — — — — — — — — — — — — —
W[4 F Tz — — — — — — — — — — — — — — — — —
o [7=yy - - - - - - - - - - - - - - - -
H [2,4-vrmmo=/)— — — — -~ -~ — — — — -~ — -~ — — — —
smrse A | R s R R 2 — — — — — — — — — — — — — —

(BEASL :pH %2l KEGE #1:CFU/100mL
XHUEIXET{E, (BLBOD., CODIL75%E .. K5 H #390%iE

.ESEEE: 1 S/om, ED1h:me/L)
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TUE Hb
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o HLURAR
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G )

—Hi&

)11

A UAT
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(Hrot)

EEiPN
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) 15 Bl
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I S 5 R O HF

pH

7.6

7.9

8.7

8.2

7.8

8.8

8.8

8.6

8.4

DO

8.2

9.2

11

9.8

9.4

12

12

11

11

BOD

1.8

1.7

1.5

1.3

1.2

3.8

1.4

1.5

0.9

COD

3.8

3.5

3.7

3.2

3.2

5.3

3.2

3.5

5SS

3

3

5

4

7

2

3

N1

1000

340

500

140

520

150

78

EEH

3.2

2.3

3.6

2.1

3.3

1.9

1.6

o

0.24

0.20

0.11

0.11

0.065

0.068

i

0.010

0.009

0.005

0.016

0.004

0.004

=)V < /)—)

<0.00006

LAS

0.0031

mEHBNIBEARESRRES >

ARV L

<0.0003

<0.0003

<0.0003

<0.0003

<0.0003

<0.0003

BT

ND

ND

ND

ND

ND

ND

#n

<0.005

<0.005

<0.005

<0.005

<0.005

<0.005

AN IZA=SN

<0.01

<0.01

<0.01

<0.01

<0.01

<0.01

S

<0.005

<0.005

<0.005

<0.005

<0.005

<0.005

e K ER

<0.0005

<0.0005

<0.0005

<0.0005

<0.0005

<0.0005

7 L)L K ER

A ke 7==)L

A== %

(BE R IAoES
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Y A=1,2—y " yunxFL
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FANINT

B

L

S

ESES

oA P 1 2 R
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MHUEIXET{E, (BLBOD., CODIL75%E .. 5 H #E90% &




{114 aupll =kl R Ee=wll| N
Je — — — — —
A G ECECT IS R EEey A BEYR L -
pH 8.1 8.1 8.5 8.1 8.1
DO 9.3 11 12 10 10
s BOD 0.8 0.6 0.6 1.3 1.3
7 |COD — — — — —
g [SS 1 1 1 2 1
BN ik 560 140 890 430 650
m | BEF 1.7 15 1.9 3.2 2.6
e 0.13 0.038 0.074 0.24 0.10
Eetiik) - - - - -
=)V Tx /) —) — — — — —
LAS — — - — —
ARV L - — - - -
BT — — — — -
e} - — - - -
iz — -~ — — —
S - — - - -
K ER — — — — —
K e kR - — - - -
n R E T — — — — —
o [FrERAZS — — — — —
g LEE: % (0 S — — — — —
o L2 Juezhy — — — — —
e |LlzoexFvy — — — — —
s |[YA-1,2-v/unxFly — — — — —
- |LL1-Nyonrsy — — — — —
gy [LL2-hmnrsy — — — — —
+ NyeRZF LY — — — — —
7 |7hpymozfly — — — — —
g L 3y a7 an’y — — — — —
e [LAAF Y — — — — —
m [ ZYZA — — — — —
D ‘ — — — — —
F AR HINT — — — — —
B — - — — —
L — — — — —
5% — -~ — — —
ESES — — — — —
o pE A %2 SR — — — — —
TP It 25 52 — — — — —
N A=A — — — — —
y  |Z=s— — — — — —
A | - — - - -
 UoEAA — — — — —
Zﬁ BRn R — — — — —
o |HEEAA — — — — —
(A S EIEPER — — — — —
A |[Tve=TisE# - - - - -
g |EPN — — — — —
B LA T VTR — — — — —
4t AT FN Tz — L — — — — —
H 7=l — — — — —
B [2,4-Y/on7=/)—1 — — — — —
st F e | R S R RS — — — —

(B :pH: 7zl KIZE%:CFU/100mL,
XEBEILFET{E, {ELBOD. CODI75%1E . X5 E %1% 90% &

ESAZEE: 4 S/om, FDH:me/L)

B4 B4 B4
Fa AT EWA (A, T, A

W Hi iR 5.0

R BRIE L@ TE
pH 8.2 6.9
DO 8.0 —
4 [BOD 1.3 2.7
= [COD 3.0 6.9
m [SS 1 4
K NI 3.7 1.4
wm | EEFE 0.25 1.9

SEREY 0.009 0.089
A 0.004 —
=)V Tz )—)L <0.00006 —
LAS <0.0006 —
HRIY L <0.0003 —
BT ND —
2 <0.005 —
AV IIZA=A <0.01 —
itk <0.005 —
KK ER <0.0005 —
7L /L K ER — —
N R bE 7==L ND —
R P A=1=5. 0% <0.002 —
sk <0.0002 —
HE 1 9= yanzpy <0.0004 —
D 1=y apzFLy <0.002 —
1% YA-1,2-YyanzFly <0.002 —
=< [1L,1,1-Nyopxhy <0.0005 —
é,% 1,1,2-Nyaoxhy <0.0006 —
;‘i Nyonz Ly <0.0005 —
% VAT s et RV <0.0005 —
gm |1 3= yaa 7 anN’y <0.0005 —
e [LA-UAFH <0.005 —
15 |[TUTA <0.0006 —
B |[=Pr <0.0003 —
F AR AT <0.002 —
Py <0.001 —
L <0.002 —
S <0.02 —
ESES 0.07 —
NI ER <0.01 —
AR E % 5 0.06 —
g V=V <0.02 —
s | Z=/—VHE — —
S P <0.01 —
VARAA — —
v’ ()la 2.9 —
z |TOC 1.9 —
O |[ERmER — —
fth  PEFRAA — —
D \EA A HEIE A — —
H |(7oe=T M 0.03 —
B [ RIBEREK — —
FTREDO — 0.9
Ih i 5.3 —
g [EPN — —
Be RV AT LT ER — —
o |(4-t-ArFr7=— | <0.0001 —
H | 7=l <0.002 —
H [2.4-v7oor-/—1 <0.003 —

(B pH: %L, KIBEH: CFU/100mL. ERIEZEFE: 4 S/cm. BDfth: mg/L)
NEEIEEFEHE, BLXEBEEEILI0%/E. BOD. CODIL75%1E



